


olth. a + b9 F& Fstoizh (H,

x(x+b)
a b%%}#)
1 1
x(x+2) + (ic—|—2)(x—|—4) +
G0 +6) +6)x18)  GL8)(x+10)




@ 1
a

®a-1



2
4. x:y:4:3?:-lmﬂ,m94%}:%?
X2 — y2

@D -3 ® -1 3 2



,a+ b2

S}
=

a,y=>bzt1

o
<A x

o 3

3x—-1

e Fopoler.



_ ax+b =
34 f(x) = o A
xX—+c

o @& Fatelat.

ct-

18




T4y = —Vax+9-1 9 FoJodo] { x| x> -3 }o]a, o] {
yly<b} L, &5 a, boll st a+ b9 327 (T a¢0)

@ -2 ® -1 3 0 @ 1 ® 9



8. Ha%

)

Gy = —VEIR T 2419] I AU GHe AR LY

@ A1 AR @ A 2 AHEH ® Al 3 AREH

@ A 4 AHEH ® A 3, 4 AFEH



9. 216 ¥ 360 o] Tk M= B EH AHQIVE?

@ 87l @ 97} ® 1274 @ 157} ® 16 7



10.

717 A2 g2 7] 10
=2 AR 1 /|7 HIEA] &

@D 36 @ 40



54 S = 2 MEATE A AAS abco] Dot

a® 4+ b + ¢ 9] g2 Fstof=t

s
=%



12.

2x% = 5xy = 3y* = 0°]2L, xy >0

©) @)

(SN )
Ut >
®)




4a

13. 0<a<29°|2 x= ol oj

a’+4
VI + VI—x 9] HAgS oo,

B =
=%




14.

100 242 54 470, 50 @42 54 27H
I AEE 5 e O o A2 4

F-5fodzt,

B e 7}A]

104
AR

}.

2]

10
=

E
[e)
M

e
m

370
9

o}N' mlm

= N
o >,



5) °l ndFolA 2 8o A5 ol Aol

g ol 7F42 7HA T n o 3

sfelet.

:ll

O
=

-

ul



ol

wjr

5

A 2 ol

St
ot

o

71A]

Ct
=



10709] 2J#toll A, B,C, D 2] 47 0] ¢t uff, o] F

@ 800

3 840

@ 880

® 920

ol

2F
i=



18.

23} G7hed] 47t A

@ 576 B 684



19. 7709 &30, 1, 2, 3, 4, 5, 6 oA AR ot2 5 7o) =25 95l
5 A2 o] s wE o, 4 9] vj9l £9] HN4E Lslozt

e = 7



71A]

Ct
=



21.

=70, 1, 2, 3, 4, 55 S5}

e off, 10002 ¥

@D 181 @ 215

® 216

@ 256

® 257



22.

3x% - 2xy
X2 4 xy +y2

@ 2V6+3
@ 3+26




o

ol
XS

__01_

T

HpEA

—
o
Al
-~
~
Vi omie
~ I
VI VI
MmN o
> >
e ——
Q@ ©
—N —
o o~
AN Al
> >~
<~ A
v ©#H H
BRI Kl R
Vioooviowvi



x+6
e O] = AlaAtEHE Avz] ¢, A

(0, b)E AL S, a - b O] GH27



25.

9C2 +3 C2 +4 Co +5 Co + -+ 419 Co o] F13

@ 1Cq @ 11C- ® {1Cx @



26.

gt 9ol e Az e 6 719 A FolA 4 7o AT Al 9]

e ololA BHE 4 gl AR T A4 ASE?

@ 974 ® 10 7§ @ 12 7§ ® 15 7§



she?

D -2(a® +b?)

@ 3ab

@ -3ab
3 0

® 2(a®+b?)



